Thm 9.9 — The measure of an angle formed by two chords intersecting inside a circle is
one half the sum of the intercepted arc. ‘ - , (

Given: chords ABand CD intersecting at point X.
- Prove: msAXC = —;—(mAC+mBD)
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Thm 9.10 — The measure of an angle formed by twoas'é'cavlvéts, two tangents or a secant
and a tangent drawn from a point in the exterior of a circle is equal to half the
difference of the measures of the intercepted arc.

Let's prove the case of two secant lines.

Given: P4 and PD secants -

Prove: m£p = %(mAD—mBC) —
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